
2,143 is the same as                                            .

72 ÷               = 2 × 4   

Divide 63 by 6. The remainder is                                             .

Which of the following is not the equivalent fraction of          ?
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(1) 2 + 1 + 4 + 3                          (2) 200 + 100 + 40 + 3    

(3) 2,000 + 150 + 40 + 3            (4) 2,000 + 100 + 40 + 3

(1) 6                          (2) 9                          (3) 8                          (4) 12

(1) 1                          (2) 2                          (3) 3                            (4) 4
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Express          in its simplest form.
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The total mass of 2 similar bags of candy is 10 kg. 
Find the total mass of 8 such bags of candy.

The rectangle below is made up of two identical squares.

8cm 8cm

Javier has 2,343 books. Susan has 589 more books than Javier.
How many books do they have altogether?
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(a) 20 kg                        (b) 80 kg                   
(c) 40 kg                        (d) 50 kg

(a) What is the length of the rectangle?
(b) What is the area of the rectangle?
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